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Gnlwl pwnuph wjwqubni
2009 pywywGh ntjnbtiptiph 23-h

N 56-U npnpiwG
Ugymuwy N 10

GredULh 2010 EdULULR A3NRGD JULOULUTL BU HNLAUSPL UUUGLRS LUSUUSNrULELR 2US
£3NFESUSHL SULUG P GNeoUNULUUTL BY. SLSEUUGhSULUL AUUUHUNGUUL GLEU UL LALL-

Uunuc Jurouuuv cr2uuh uuund,

(hwqup ppudGhpny)
% a | e £ymotnwjhG dSwjuutinh gnpownwywl nuuuwlupgiw % wyn pumd
SR rwdhGGtph, fjudptinh L nwubph, hGsutu Gub pymetimwyhG o
A=) =1 3
g | 5| &| owhubphwtwbuwghuwlwG nuuwlwpgiut hadwdGtnh 3 | COnwdtin | qupsuywe $nlinuh
@ wiywmbGnmuiGtpp g pymgb pymgb
1 21 3| 4 5 6 7 8 9
cvAUUGLE GUUGR 362,888.2 301,294.2 61,594.0
LUAULNAM ALNRBED LULLU3RL
2100( 01 ] O 0 SUNUBNRE3NELLEL 125,483.1 113,488.1 11,995.0
wn pynid”
OptiGunhp L qnpownhp dwpdhGa6p, whwmwlul juimujwpnd,
2110{ 01 | 1 0 |ppGwluwlmb L hwplpupymetinuihli hwmupbpmpymGGap, 123,483.1 111,488.1 11,995.0
wnunuwphl hupuwpbpmpmGGhan
nphg’
21111 01 | 1 1 [OptGunhp L gnpownhp SwpdhGabp,wbnwywl jurwwpnid 123,483.1 111,488.1 11,995.0
wyn pynud”
1. GuwpunJwpdw G JupdGh upuhwywGnid 123,483.1 111,488.1 11,995.0
-UWtuwwnnnGhph wfuwmwyupdtip bW hwybpuydwpGtp 4111 74,530.0 74,530.0 -
- MwpqlwwnpnuiGtip, npwdwlw6 upwjuniuntdGhn L hwonny 112 6,190.0 6,190.0 )
Jawpltip
-Unghwjuwl wwywhnynipjub ydwpGbp 4131 13,038.0 13,038.0 -
-EGtpgtnhy ownwjmpyniGGtp 4212 2,365.2 2,365.2 -
-GQuuwh dwnwympjniGGtp 4214 3,352.8 3,352.8 -
-Upnwuwhiwbjul gnpomnnuiltnh qony owfuutip 4222 2,000.0 2,000.0 -
-Jwpywlwl SwnwynmpiniGGtp 4231 150.0 150.0 -
-Stnuiuunywywl SwnwjmpmGGtp 4234 344.8 344.8 -
-“Lhpyujyuwgnigswlwl dwhuutip 4237 2,000.0 2,000.0 -
-Uwulwghnuyub dwnwjnmpinilGGtn 4241 275.0 275.0 -
-UtiptiGwGbtph L vwppwynpnudGtph ppwughly Gnpngmad L 4252 1.380.0 1,380.0 )
wwhwwlnd
-QnuubiGyuywjhG Gupbp L hwgniuwn 4261 1,618.8 1,618.8 -
-SpwGuwnpuwjhG Gyniptp 4264 3,969.0 3,969.0 -
-UtiigwnuwjhG b hwGpwjhG uGlnh Gympbp 4267 274.5 274.5 -
- SpwuwynpuwjhG uvwppwynpniilbnp 5121 10,000.0 - 10,000.0
- Jwpswlwl vwppwynpmiGlip 5122 1,995.0 - 1,995.0
2160] 01 | 6 0 LGnhwnip pGnyph hwlpwhG ownunipyniGGhp (wj] nuubphG 2,000.0 2,000.0 )
syunnljuting)
nphg”
2161| 01 | 6 1 CGnhwGmp pGnyph hwpwyhG SwnwjmpyniGitp (wyp puutphG 2,000.0 2,000.0 )
syuwnlwlnng)
wyjn pynui”
1. FpdmdGhp, hwjgunhdnidGep, nunwpwéh npnynidGaph L
Ghiph nbd 6puplGlhs L Jdpwph (il 2,000.0 2,000.0 -
GhplwipugGbiu vwhdw G Jownpniyakh,
-Muwpuwnhp YdwpGtp 4823 2,000.0 2,000.0
2400( 041 O 0 SuLSEUUUUL {ULrURELNRE-SNRLLER 26,600.0 26,600.0 -
wyn pynud”




z | o Rjmetnwjh6 dwiuubph qnpdwnwlwG nuuwlupgiw Z wyn pm
=5 8 pwdhGGtph, fudplph L nuutph, hGswbu Gul pynigtwnmwhG o
=) = 3 ’ ’
? 3 E ¢ owhuubiph mimtuwghnwywl nuuwwupgiwl hnnpwdGtnh é- Clnudtn Jupsulywé bnlnuwjha
» [ < g pymok pymok
wijwGnuiGtpp g
1 2 (3| 4 5 6 7 8 9
2420 04 | 2 0 QmnunnGunbunipym b, winwnuhl mGmbumpnmd, 7.600.0 7.600.0 )
dlyGnpumpyni( L npunpnnipym G
nphg'
24211 04 | 2 1 [QynnuwbubumpynG 600.0 600.0 -
wyn pynui’
1. Qymnuunlwnbuwlml aGnuiGhis, unnywuwnnif 600.0 600.0 -
-UwuGwghnwlwl dwnwjnipymGGtp 4241 600.0 600.0 -
2424 04 | 2 4 |Nnngnud 7,000.0 7,000.0 -
wn pynui”
1. Apnquwl hwiwljw, LpwGn, 1 L pwhwqnpomy 7,000.0 7,000.0 -
-Chlptph L JunnygGtph nGpwghy Gnpngnid L wjwhww Gnud 4251 7,000.0 7,000.0 -
24501 04 [ 5 | O [Spwluwnmn 19,000.0 19,000.0 -
nphg*
24511 04 | 5 1 [SwGwwwphwjhlG npwGuunpn 19,000.0 19,000.0 -
wyn pymd’
1. Uupwpn-pbnnlijw owolh Jepubnpngnid L wywhupubnig 19,000.0 19,000.0 -
-Chiiptiph L YunnyygGtph pGpwghy Gnpngnid b wjuwhujwGnud 4251 19,000.0 19,000.0 -
2500|105 0 [ O crRUUU UR2UUUSC,h MUCSNULNARME3NFL 55,848.2 55,848.2 -
wyn pynud’
2510| 05 | 1 | O |UppwhwGnoid 53,925.2 53,925.2 -
nphg'
2511| 05 | 1 1 |Unpwhw(nid 53,925.2 53,925.2 -
wyn pymd’
1. Uwlhmupuljwl dwppnif 53,925.2 53,925.2 -
-UnuiniGwy SwnwympjniGGtp 4213 53,925.2 53,925.2 -
2560l 05 | 6 | o |CrEwYw vhewjuwiph wuzumupwbnipymG (wjy puubphl 1,923.0 1,923.0 .
syunnljuting)
nphg'
2561l 05 | 6 | 1 |Cnewlw dhewyuynh wuwywmuuwbnipmiG (wjp pwubphG 1.923.0 1,023.0 .
sywnlulnng)
wyn pynud’
1. Gwlws mwpwopbbph upuhujwGnng 1,785.0 1,785.0 -
-UnuiniGwy SwnwympjniGGtp 4213 1,785.0 1,785.0 -
2. UnnwhwGdwi b dhgwunwqbpodwl ownwjnipniG6hn
2. UunwhwGdw L dhownuqbpodwl ownwinipin GG 138.0 138.0 )
/pbpunnhquighu/
-UnuintGw) dwnwjnipniGGbp 4213 138.0 138.0
2800|108 0 O {ULGhUS, UCUUNkF3E 64 u,NL 16,509.4 16,509.4 -
wyn pynuf’
28101 08 | 1 0 (Qwliqunp L uynpnp SwnwympymGGhp 6,033.6 6,033.6 -
nphg'
28111 08 | 1 1 (Qulquunp L uynpnh SwnwynipjniGGatp 6,033.6 6,033.6 -
wyn pynud’
1. UynmnwipG dhongupnidGhph Juquwibpuynid 6,033.6 6,033.6 -
-Qnyph L uwppwynpnuibph Jupdwwimpjni 4216 1,370.0 1,370.0
-UbpphG gnponniiGhp 4221 2,103.6 2,103.6
-GpuutifywlwyhG Gniptip bW hwgniuwn 4261 2,228.0 2,228.0
-dwunntl] GuuwumwlwjhG wy Gymphp 4269 332.0 332.0 -
2820| 08 | 2 0 |UpwympwjhG ownwinipymGGhn 10,475.8 10,475.8 -
nphg'
2824 08 | 2 | 4 [Ujp dywynipwjhG juqiwytpunipynGhtp 10,475.8 10,475.8 -
wyn pynud’
1. Dpwilimpujhl shonguinnmuGhph hpwlwGugnid 10,475.8 10,475.8 -
-Clnhw(nip pnyph w)p ownwympjniGitp 4239 1,800.0 1,800.0 -




z | o Rjmetnwjh6 dwiuubph qnpdwnwlwG nuuwlupgiw Z wyn pm
=5 8 pwdhGGtph, fudplph L nuutph, hGswbu Gul pynigtwnmwhG o
=) = 3 ’ ’
? 2| 5| ¢ | owuubphwbnbuughnwlwt quuwlupqiwt honjwattph 2 Conudtln | Jupsulywd $nlnuwyhG
% | & g pjmgh pjmgh
wijwGnuiGtpp g
1 2 (3| 4 5 6 7 8 9
-UtiigunujhG L hwGnpwjhG uGGnh Gyniptp 4267 1,276.3 1,276.3 -
-dwunntl Guuumwlwjhl wy Gymphp 4269 7,399.5 7,399.5 -
2900( 091 0 [ O ULENRE-3NRL 124,204.3 74,605.3 49,599.0
wyn pymd’
29101 09 | 1 0 |(vwfuwnpypngwlwi L mwppwiwi pphwinp Yppmpim G 59,081.0 50,000.0 9,081.0
nphg'
29111 09 | 1 1 [Vwhiwnwpnguyw6 Yppnpynil 59,081.0 50,000.0 9,081.0
wyn pynud’
1. VwluwnupnguljuG niunigmy 50,000.0 50,000.0 -
-UnipupnhwGbp ng-phGwGuuul whmwwl (hudw)GpwjhG) 4511 50.000.0 50,000.0 )
JuquwytpynipniGGtphG
2. bwfuwnupngulwi mumgiul uqiwlbpydwd hwidwnp )
wihmudlywm gniph dbnppbpmy 9.081.0 9.081.0
- Jwpswiwl vwppuwynpmuiGhn 5122 9,081.0 - 9,081.0
29501 09 | 5 0 (Puwm dwhwpnulGhph spuuwipupginn GppmpynG 27,105.3 24,605.3 2,500.0
nphg'
29511 09 | 5 1 (Upnwnupnguiwl nuumhwpwlynipjniG 27,105.3 24,605.3 2,500.0
wyn pynui’
1. Upmuwnupnguiljul nuumpwpwynipin § 24,605.3 24,605.3 -
-UntpupnhwGbp ng-phlwbuuyub whmwub (hwdw)GpujhG) 4511 24.605.3 24.605.3 )
JuquiwybpynipniGGaphG
2. UpnuwnupnguljwG npwumhwnwynipjul juguulbpyduw )
hdun antiph & knppbnnd 2,500.0 2,500.0
- Jwpswwl vwppwynpmiGbip 5122 2,500.0 - 2,500.0
2960 09 | 6 0 |UppmpjulGp mpuwdunpynn odwlnul ownwinipymGG6n 38,018.0 - 38,018.0
nphg”
29611 09 | 6 1 |Yppmipjulp mpuwiwnpynn odwlnuy dwnwynipjniGatp 38,018.0 - 38,018.0
wyn pymd’
1. bwlwnupnguljw i hwunwwmnipin 6G5ph hhyGwGnpngnid 38,018.0 - 38,018.0
- Chliptiph L phGmpyniGGtph Juwhwwy Ypuwinpngnid 5113 38,018.0 - 38,018.0
3000|100 0| O unshuLuYlyL NMUCSNULNAME3NMY 14,243.2 14,243.2 -
wyn pynud’
s070| 10| 7 0 Unghwjwlwl huwwnntly wmnnGnipymG6hp (wy) quubphl 6.601.5 6,601.5 )
syuinljuting)
nphg*
3071] 10| 7 1 Unghwjuwlw6 hwnny wpnnGnipyniGGtp (w)) nuubphG 6,6015 6,601.5 )
Jywnfuing)
wyn pynud’
1. Unghwijwyby wlwwjwhny pGunwGhpGhph bpbluwGiph
1. Unghwjwwybu wlwujuwhm] pGumwGhpGbph bpbfuwbh 150.0 150.0 )
hwlgunh jugdwlbpunid
-Uj1 GuuuwnGhp pynigtihg 4729 150.0 150.0 -
2. Lwpwquun smGhgnn wldwlg L unghwwubu whwupwhn
plGunwGhpGhph hwdwp bripwplwydnpmp w6 jwqbwlbpuny 810.0 810.0 i
-CanhwGnip pGnyph wyp ownwympjniGGtp 4239 810.0 810.0
3. Unghwjwybu wlwwwhny pGunwGfipGiphl mnGwlhwl
3. Unghwjwwybu wlwujwhm] pGunwGhpGEphG mnGulwl 32215 32215 }
opbphl wowlignipim @
-Qwuntl GuuumwywhG wy) Goipbp 4269 180.0 180.0
-Uj1 GuuuwnGhp pynigtihg 4729 3,0415 3,041.5
4. Unghwjwwbu wlwujwhm] wldwlg wowlgnipini G 2,420.0 2,420.0 -
-Uj1 GuywuwnGbp pjnigtihg 4729 2,420.0 2,420.0
3090( 10| 9 0 |Unghwywiué wwpmuulnpymé (wy nuubphl sujunaljpwlng) 7,641.7 7,641.7 -

nphg'




S 12| 5| 5| s v vt | =
? B E r?' Glilll'uuhplllin(’imhll:mltl}hml?ll]mél I}inulflﬁmpqﬁm(filmfl{md(i]hph é- Clnudtn Jupsulywé bnlnuwjha
v | < wywGnGhpp g pymgh pymgh
1 2 (3| 4 5 6 7 8 9
3091| 10 | 9 1 |Unghwjwlwl wuwyunuwwlnipymb (w)p puubphG supunluGnn) 7,641.7 7,641.7 -
wyn pynuf’
1. Unghwjwljwl oqlnipjul dwnwjnipiniGGEph
om Ghmpjul Juquwbpuymy (wwuhpuljud 7,641.7 7,641.7 -
1hwgnpmpmG6bp)
-UWtuwwnnnGhph wfuwwmwyupdtip bW hwybpuydwpGtip 4111 6,082.3 6,082.3 -
-Unghwjuljwl wywhnynipjul yawnpltip 4131 1,181.8 1,181.8 -
-GQuuh ownwympjniGGtp 4214 1195 1195 -
-GpwutiGyuluyhG Gyniptp L hwgniuwn 4261 198.1 198.1 -
-UtiGgunujhl L hwlpwyhG uGlnh Gynipbp 4267 60.0 60.0 -




